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# 00000000

datl <- matrix(c(0,0,0,0,0,0,1,0,0,0,0,0,1,1,0,0,0,0,0,0,
1,0,0,0,0,0,0,0,0,0,1,0,0,1,1,0), 6, 6)

dat2 <- matrix(c(o0,1,1,0,1,0,1,0,0,1,1,0,1,1,0,0,1,0,0,0,
1,0,0,1,0,0,0,0,0,1,1,0,0,1,1,0), 6, 6)

# 00000

rownames (datl) <- c("A", "B", "C", "D", "E", "F")

rownames (dat2) <- c("A", "B", "C", "D", "E", "F")

# 00000

colnames(datl) <- c("A", "B", "C", "D", "E", "F")

colnames(dat2) <- c("A", "B", "C", "D", "E", "F")

# 000000000

gplot(datl, mode="circle", displaylabels=T,vertex.cex=3,

vertex.col="white", label.pos=5)

gplot(dat2, mode="circle", displaylabels=T,vertex.cex=3,

vertex.col="white", label.pos=5)
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[geodist (dat) ]
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> geodist(datl)
$counts

[,11 [,2]1 [,3] [,4] [,8] [,6]
[1,] 1 1 1 1 0 1
[2,] 0 1 1 1 0 1
[3,] 0 0 1 1 0 1
[4,] 0 0 0 1 0 1
[5,] 0 0 0 0 1 1
[6,] 0 0 0 0 0 1
$gdist

[,11 [,2] [,3] [,4] [,8] [,6]
[1,] 0 1 1 2 Inf 1
[2,] Inf 0 1 2 Inf 3
[3,] Inf Inf 0 1 Inf 2
[4,] Inf Inf Inf 0 Inf 1
[5,] Inf Inf Inf Inf 0 1
[6,] Inf Inf Inf Inf Inf 0
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(gden(dat, g=NULL, diag=FALSE, mode="digraph") ]
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> gden(datl, mode="digraph")

[1] 0.2333333

> gden(dat2, mode="digraph")

[1] 0.5
\ %
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(:dyad.census(dat, g=NULL) :)
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grecip(dat, g = NULL,

measure = c("dyadic", "dyadic.nonnull", "edgewise", "edgewise.lrr"))
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. (a+4c)
1. dyadic = (athto)

2. dyadic.nonnull = 4

2Xa
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3. edgewise =

O0’%edgewiselr’ OO0 00000 edgewise 00000000000 OODOOOODOOO
gooboboooobbodd dyadic.nonnull U0 0O0OO0O0OOD0OOOOO0OO
0000 20000000000000000000000

4 N
> dyad.census(dat2)

Mut Asym Null
[1,1] 4 7 4

> grecip(dat2, measure="dyadic.nonnull")

Mut
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blockmodel(dat, ec, k=NULL, h=NULL, block.content="density",
plabels=NULL, glabels=NULL, rlabels=NULL,
mode="digraph", diag=FALSE)
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equiv.clust(dat, method="hamming", mode="digraph", diag=FALSE,

cluster.method="complete")
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# 000000000

x <- c(0,0,0,1,1,0,0,1,1,1,0,1,0,0,0,1,1,0,0,1,1,1,0,1,0)

dat <- matrix(x, 5, 5)

colnames(dat) <- c("a", "b", "c", "i", "j")

rownames (dat) <- c("a", "b", "c", "i", "j")

# 0J000do0doooooooooooon

clust <- equiv.clust(dat, method="euclidean", mode="graph",
cluster.method="ward")

plot(clust)

# J00O0O0O00O 200000000000000

blockmodel (dat, ec=clust, k=2, mode="graph")
. J

Cluster Dendrogram
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as.dist(equiv.dist)
hclust (*, "ward")
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> blockmodel(dat, ec=clust, k=2, mode="graph")

Network Blockmodel:

Block membership:

abcij
11122

Reduced form blockmodel:

abci]j

Block 1 Block 2
Block 1 0.3333333 0.6666667
Block 2 0.6666667 1.0000000

J
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0200 00000000000000D0000000DO0000000DO000C00OO00O00O0
o0oo01lgoodoooooooon

O0000000000000000ODO O Reducete form block model:0 0 0O 0 O O
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00000000000 00DogodBlocklODOODOODOO a,b,c0000O0O0O0O
30000000000 bDo0o0obOO0o0obOO00bO0 100bo00obDo0oobODOoobDOoOoDbDOon
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